ANSWERS - VOLUME 1: EQUILIBRIUM
Chapter 4, Structures

problem 4.18, page 149

Remarks:  See 84.5, page 130 till 144
Answers:
Get to the answer similar to the way in 84.5.3 on page 136

Alternative Solution:

A statically determinate construction is a kinematically determinate construction
with the smallest amount of support reactions.

For a statically determinate construction holds:

n=r+v-e=0

From which the necessary number of support reactions (bars) follows:
r=e-v

With e=2x3=6 and v=2 you’ll find:

r=e-v=4
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